
Potential - ANSthis type of energy is derived from position, shape, or state NOT from 
motion (MC)

Power - ANSFormula for ________: work divided by time
w/t (MC)

Power - ANSrate at which work is preformed (MC)

Pressure - ANSThe two valves on the radiator caps are a _______ valve and a vacuum 
valve.

Prestige most nearly means - ANSstatus

Primary Coil Winding - ANSlow-voltage winding in a car's ignition (AI)

Primata - ANSthe ORDER which includes humans (and other primates) (GS)

Probability - ANSnumber of desired outcomes
--------------------------------
number of possible outcomes (AR)

Proteins - ANSnecessary for body's maintenance, growth, and repair (GS)

Rectifier - ANSAC (electricity from the alternator) is converted to DC by the ________. 
(AI)

Red - ANScolor with the lowest frequency (GS)

Red Blood Cells - ANScomponent of blood which carries oxygen (GS)

Refraction - ANSwhen light bends due to passing through a medium (GS)

Refractive Index - ANSratio by which light is slowed when passing through a medium's 
________ (GS)

Resistance - ANScan slow down the flow of electrons but will not stop it completely (EI)

Respiration - ANSprocess by which animals convert oxygen and sugars into carbon 
dioxide and water (GS)

riding the mail plane is a low-budget way to visit america's largest national park--
wrangell-st.elias-- 13 million acres of scenic beauty. copper first drew prospectors to this 
part of alaska. from 1911 to 1938, the kennicott mine produced 200 million tons of it. 
now a mecca for tourists, the town of kennicott was abandoned to the ghosts when the 

Preview from Notesale.co.uk

Page 11 of 17



Spaces are placed between slabs of concrete in city sidewalks to? - ANSallow for 
expansion and contraction

Spark-ignition System - ANSDiesel engines don't have this compared to gas engines for 
burning gas (AI)

Stoichiometric Ratio - ANSideal air-fuel mixture for insertion into the engine cylinder 
(14.7:1) (AI)

sustain most nearly means - ANStolerate

Taps and dies are tools to? - ANSCut threads for nuts and bolts

Ten - ANSOn the Richter scale each number greater is ____ times greater than the last. 
(GS)

Tendons - ANSconnects muscle to bone (GS)

Testes - ANSproduces sperm (male reproductive system) (GS)

the best saw for accurately cutting 3 inches off the length of a 2 x 8 x 18-inch piece of 
lumber is a - ANSradial arm sawt

the cashier negated the charge of the item - ANSnullified

the catalytic converter is part of what system? - ANSEmission control system

The chemical formula of a compound describes the elements the compound contains 
and the... - ANSthe ratio of elements in a compound

The engine flywheel bolts to the? - ANScrankshaft

the factors of 2x^2+xy-3y^2 are - ANS(2x+3y)(x-y)

the function of the master cylinder is to - ANSApply hydraulic pressure to the wheel 
cylinders

the hypotnuse of a right triangle has a length of 14 units and a side that is 9 units long. 
which equation can be used to find the length of the remaining side? - 
ANSx^2=14^2+9^2

the illustration shows a water tank that is made of wood planks and reinforced metal 
hoops. why are the hoops closer together near the bottom of the tank? - ANSthe water 
pressure pushing against the sides of the tank is greater near the bottom

the illustration shows an example of... - ANSan inclined plane
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